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OTHER INSTRUCTIONS
Read carefull

1. Write only candidates Name and
Roll.No. in the space provided in the
Answer Sheet and affix your signature.

2. All questions are compulsory. Since
the time aliotted to answer is very
limited, you should make the best use
of it, by not spending too much time on
any one question.

3. Choose the correct answer from the
options given for each question and
shade the corresponding box with blue
| black ball point pen, in the answer
sheet.

4. In the Answer sheet if you shade
more than one answer number or if you
overwrite or delete the answer number,
no mark shall be awarded to that
answer.

5. Blank sheets have been provided at
the end of the question booklet. Use it
for rough work. Answers on these
pages will not be considered for
Valuation.

6. In future for correspondence, if any,
quote your Roll No.

(Centre Code No. and serial No.)
without fail.

U@ — Il | PART — 11

uplifleys Himeir Gsitey / SCHOLASTIC APTITUDE TEST

&meold : 90 [Fufl_usser / Time : 90 min

w&lGlusirsst : 90/ Marks : 90

Reualamrggrst Sp&GHUILGsrereury eflermésmeTs GlameiTL g

This booklet contains questions as given below :

um_fiseT/Subjects

1. gflefwe/ Science
2. seauflzn/ Mathematics

3. sews gfiaflwe / Social Science
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92.

93.

94.
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SCIENCE / ayfleflued

An inverted image can be seen in a
convex mirror.
1. under no circumstances
2. when the object is very far
from the mirror
3. when the object is at the
centre of curvature.
4. when the object is at the
focus.

A light beam suffers reflection at a
plane surface. Here the angle of
incidence is 45°. What is the angle
between the incident ray and
reflected ray?
1. 45°
3. 120°

2. 90°
4. 0°

A and B are two objects with
masses 6 kg and 34 kg respectively.
Then

1. A has more inertia than B

2. B has more inertia than A

3. A and B have same inertia

4. B has inertia twice that of A

What happens when a bar magnet
is broken into two pieces?
1. One piece becomes north pole
and the other become a south
pole.
2. Each
magnet.
3. The magnetism is destroyed
4. One piece remains a magnet
and the other becomes an
ordinary bar.

piece  becomes a

388{; 23
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spu@Sgid Dflme

1 55 @@ Henaouligid gmed)
Nibugeng sHRUGSSTS.

2. Qumqermerg) Sy lpuflsdlmbs)
Cuggmemsailsh B)msEL
Gurs!.

3. Qummemrerrgy Syipuflsir susmerey
soLwSHD BlmEELD Qumiys.

4. Qumremmeng) Sypulishr Pé&ELS
eaflugdd Blnseh urys

sofissdmerg & sugemiLmiiloul@
sHAmmefl&siuGSngl. 2|gstr
u@Casmsvorgehleir gy 45° eraufled
uGsHmEGL, Ut &HmaEL G Guw
2 sirem Gameverid,

2. 90°
4. 0°

1. 45°
3. 120°

AB erettp @\ Gunpstsafisir [Henpast

yoptu 6648 wppn 34 &H& e

Bmhgmed
1. A-sir flemsonid B-str Hlemsowngms
ol gifawns BmsGL.

2. B-sir flemsuwotd B-sir lemsoogeme
oilL giflErs @)maEL.

3. A-ib, B4 gCGr flemeungemg
2 MLIFTS B(HSGLD.

4. B-sir flsmeototh, A-eir flensonGens
Gumed @)(HLLRISTSLD.

@G sLLeMmzSms B gwT@sams

2 DLSBITE0
1 Q@ gl el S EaLrsaD
S|0ES gisiar @ Glpsir

SieuLnmaaylb wrpib.

2. @b, SiETOL STEFLNS
Lo,

3. @ gemheEnd &S
SstrenLosnil @IS ELD.

4. @@ se® SNHSS ST
2 OLIWGTSAD, hEpT gisvr®
S SSGemeniomi @b
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What is the current in the given
electrical Circuit given below.

202 28

20
MWL

|1

2V

15A
25 A
05 A
033 A

el e

Generators work on the principle of
1. Magnetic Induction
2. Electromagnetic induction
3. Electric induction.
4. Heating effect of current.

If two objects A and B have their
masses in the ratio 1:4 and their
volumes are equal, then the
densities have the ratio.

Ag»goh—l
W N = B
W S

A piece of wood floats in water.
What happens to it in alcohol?

1. Floats higher.

2. Stays as before.

3. Sinks.

4. Sinks and floats.

At what temperature do the
Farenheit and Celsius scales give
the same reading?
1. 0°
2.5 273"
3. —40°
4. 180°
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EANEL T 00 WBstramplev LTy,

WhsirGearm_L Slstr 9jemay

20 2802

20
MWL

|1

2V=

1.5A
25 A
05 A
0.33A

ol ol ol

Wstresfwpiiufetr &Sgieuld
1 SMESS SNevTLs
2. \NetraEsS STeTL60
3. flstrgmenorL_sb
4. fstrGerm L GHstr Gleuliu eflemersy.

A B eeip @@ OQurmerseaflsr
feopaafisr aflfzsn 1 4 pmid
Sjeubpiletr LpLosiTa6T &Loib eTeuflsh gysuaflm
Qurmeraeafistr YLTSHsaflsr allgio.

1. 4:1
2. 1:4
3..2:1%
4. 3:1
£ HBESLD LTSSIET®H QeTmD
Spsoanmsdlsd GLm_L_mev.
1 ehy Culayb &S
2. Bfe Bigpsg CuraGe g&ELn.
3. eypsL.
4. eyl Ny Lilg&@ELd.

55 Qeuliuflsnevufled Sumysirami Wbyt
Qasdlwsv eraIBser T ral L&
GPIsEL ?

1. 0°
y A vl o
3. 40°
4. 180°
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104.

105.

Sound waves are
1. longitudinal waves.
2. transverse waves.
3. electromagnetic waves.
4. longitudinal and
transverse waves

A Circular disc of copper has a
symmetrical hole at its centre. The
disc is uniformly heated. The
diameter of the hole will

1. increases.

2. decreases.

3. remains the same.

4. becomes double.

The tail of a comet always peint
1. towards the sun.

2. towards the earth.
3. away from the sun.
4

. away from the earth.

Among the following, which is a
mixed salt.

1. Bleaching powder.

2. Potash alum.

3. Sodium bicarbonate.

4. Potassium ferro cyanide.

Which is used as an insecticide.
1. Bordeaux mixture.
2. Nitre. ,
3. Potash alum.
4. Sodium thio sulphate.

Name the gas coming out of the
reaction between calcium corbonate
and diluted. Hcl.

1. CO

2. CO,

3. Ci

4. H,
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The temperature at which Co;
changes into white ice is

1. —78°

2. 78°

3. 98

4. +98°

The compound formed when Co; is
passed into lime water, is

1. CaCo;

2. CaClz

3. CaO

4. Ca(OH),

An atom is neutral due to

1. number of protons are
less than the number of
electrons.

2. number of protons are
equal to the number of
neutroms.

3. number of electrons are
equal to the number of
protons.

4. number of neutrons are
equal to the number of
electrons.

The number of neutrons present in
tritium is

280 =
B W

The alloy which is used for making
surgical instruments, is

1. steel.

2. bronze.

3. Stainless Steel.

4. Duralumin.

Which of the following is a bad
conductor of electricity.

Copper.

Plastic.

Mercury.

Iron.

ol ol
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e Qeuliu femeulilss Co, gyerg)
Qeusirememt’ Listfl&&LiplTs WIHDL
L&D

1. -78°

2. 78°

3. -98°

4. +98°

Bi&s setremmiy saregisr Cor-g
Gaté@ih Cangl 2 smLm@ Gaol.

1. CaCo;

pot CaC‘z

3. CaO

4. Ca(OH)Z
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112.
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114.
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117.

Terene is obtained by polymerising.
. 1. pthalic anhydride and
ethylence glycol.
2. Pthalic acid and ethylene
glycol.
3. Pthalic acid and glycerol.
4. Pthalic chloride and glycerol.

The power house of the cell is
1. Chloroplast.
2. Mitochondria.
3. Ribosome.
4. Endoplasmic reticulum.

Virus infect the
injecting its
1. protein coat.
2. Nuclic acid
3. Sheath
4. Tail fibre.

host cell by

The micro organism used in the
preparation of cakes and alchoholic
drinks is.

1. Bacteria

2. Virus

3. Fungi

4. Yeast.

Which of the following statement is
correct, regarding Green House
effect ?

1. decrease in Co; due to
burning of fuel and
destruction of forest.

2. oxidation of carbon due to
burning of fuel.

3. increase in Co; due to
excessive burning of fuel.

4. decrease in global
temperature.

The best soil for plant growth is
1. Sandy soil.
2. Clay soil.
3. Residual soil.
4. loamy soil.

388/29
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QW_ifsbr eT6OTLIG STHEOT LisuLilp
1. gmedls Bifled wpmid evéEleSstr
Elenerdsmev.
2. gmellé gbleotd Lopmid s&EleSstr
Slene &M,
3. gnells gfieutd pmid deflsrmed.
4. gnels GCsmmenr® LHYID
Seflayme.
QlsvsblsT gyHMEH LoD
1. usmsafls
2. oowl GLrameoripfium,
3. empCunGemb.
4. erenrCLmSlemTE suemey

smeure @Lufifenw gréEHeUNS)
Wesle 2 L CepiSgig.

1 urg 2.eop

2. Ay seafls gpblevid.

3. 2mp.

4. eumsoEmT.

Quym_ig, wgumemd Swmfliflsd LwssTu@LD

wistor gmusif

1 urslafium

2. emsue '

3. snemmedr

4. wevl.

usismL @ssv elemerey THLRLISDES
S SseLsupmIeT ebS SnhE
smeurSpg.

1. afQurmlsamer 9flsin
LWETLGSSISE WHHID STEEemeT
Sfiugre Co, sgaigh Gmpgen

2. amiusir gy seblgGarhmid
S| 6D.

3. gfls eflGur@msamsr
LWSTURSSISE0 LDHEILD STEISemsT
fiugme Co, sgaigid
3fafGse0.

4. yefl Gsuliud Gsmpge.

SmeUT eUeTTEH& (S 2-&[5S LosuT.
1. LoewOTeD
2. aseflosvr.
3.  6uGBITL 6V LOGTUT.

4. sefloetor sustTL 6.



119.

120.

121.

122.

Chloroplast of spirogyra is
1.cup shaped.
2. spiral shaped.
3. spherical shaped.
4. Ladder shaped.

The Correct
following
A: Rohu is a hony marine fish.
B: Rohu is 2 bony fresh water fish.
C: Rohu is used for biological
control of mosquitoes.
D: *t has cycloid scales on its bony.
i. Aand B
2. Band C
3. AandD.
4. Band D

statement of the

The cell theory was proposed by

1. Theodar Schwann and Jacob
Schieiden.

2. Lamarck and Theodar
Schwann.

3. Robert Hooke and Robert
Brown.

4. Robert Brown and Lamarck.

The Causative agent of Accquired
Immunoc Deficiency Syndrome
(ATDS) is

i. Bacteria.

2. Protozoa.

3. Virus.

4. Fungi.

Conglobate gland is found in
1. male frog
2. male Cockroach
3. female Cockroach
4. female frog

3%8/29
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sumuCrrasmrelis uadissls s S
sulgauLh.

1. &\sorem culpeuLD
2. &(HET aulpsuLD.
3. o (mHevTemL. AupeuLD
4. eranfl augsuld.

Spsengyid snppeseafis aflumsr
Sn IS
A : Gy sLs5l60 sumgid erguiLbiifstr.
B : Gy pedvesi sump erguihyy st
C : G 2.Wiiflu apulis Qaressemer
UitLgHE uwsTuGSDG.
D : Crmg 25 (PgsucGld masHmmi@
Qsdsmamd QaramBsTorgl.
1.A uhgo B
2. Bupgo C
3. Aupgo D
4. B upgb D

QanQarsTensmen (et Qmilsseuise.

1 SGum_it dvdsumer wppLd sl
sroeSiLsar.

2. HCwrLi suFaimedr HEID
UL

3. ruil en®é whpb rruis
NGlyemedr.

4. mrui’. Giremetr LHYID somomis.

AIDS sretrggh GHmeni 2 siTLISELE
smyevefl.

LISt LT,
uGrm_GLrGamsur.
SHSUTEN.

Lh(EHEME ST,

hoOnN~

smiigGaomCuy. smemul Qudgsrer
aflsurkiE

1 o600 SeUemET

2. 560 SIULTETLLEFE]

3. Quetor emiumssry,&El
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123. Which of the following statements is

correct?
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123. @péaramusbmst sfumer s Hy
1 pusfiser gpss saurt whyid

1. Arteries are thick walled with g-';lﬁ*’z Brss siwssn
high blood pressure. 9 ﬂfmr::’;l;ijlﬁg st uppib sy
2. veins are thick walled with @155 Sissih Gerai_g,
hlgh blood pressure : 3. Qs Bisss e whpi
3. veins are thick walled with GODUTT @TSE SjugHsis
' low blood pressure. Clasmetor_gy.
4. Arteries are thin walled with 4. gueflssr Glssilu et whprb
low blood pressure. Gempaurar BlrSs 9iSeLb
QamsirL g,
124. Honey is adulterated by 124, Ggemer 53513'311'-10’[5@5”@-
1. Oil extract. 1 oemGen :
2. Wax-like substance. : Gl Gumsirp Gume.
3. Fruit juice. 4 ;‘i’gs‘ﬂg SR
4. Gur Solution. ' :
125.  The nucleus was discovered by 125  elagma san@uilyspar
1. Robert Hooke L g an®s
2. Purkinje § Uﬂ@@gg‘ ,
3. Robert Brown . g:n"r':;‘ o
4. Mohl )
MATHEMATICS / G euflgiLn
126. If a sum of money doubles in 10  126. sofawipuid 10 S Rsafled o
years in simple interest then the Oz B wiisnanmsd siger ety
rate of interest is afgid.
1. 6% 2. 10% 1. 6% 2. 10%
3. 5% 4. 7% 3. 5% 4. 7%
127. The population of a village is 127 8O AmusSeir wéss Agmme 20000.
20,000. The population is increased ' “’f"”m QP""”GS. ‘““'“"“f‘ afgih é!b‘”."T@?@
by 5% every year. The population 5% srerfleb Gysior_momain® wipedld i
at the end of 2 years is SmoSSleir wéaer Qgrams.
1. 23,000 1. 23,000
2. 25,000 2. 25,000
3. 22,050 3. 22,050
4. 21,050 4. 21,050
128. The sum of the digits of a two digit  128. @f Qran@ Gods ereor suofeir
number is 7. If the digits are Buéatisafiir & Qg 7. Gassisme
reversed the new number will be 27 gun , omppflemme é’]‘“"—afﬂm ol
less than the original number then :,r@afr:;;L .m:;‘.::m Al
the number is. Gmoey Ab5 :
1.52 2, 25 1. 52 2. 25
3. 72 4. 27 3, 72 4. 27
388/29~2
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129. The order of rotational symmetry
for the adjoining figure is
AOX
1. 4
2. 6
k M
4. 8
130. On a particular day. the exchange
rate of one Japanese yen is Rs.42.
The value of Rs.210 interms of
Japanese yen is
1. 8
2. 4
3. 5
4. 7
131. Ifa=3,b = -2, C = -7, then the
value of a’-2b’ F3c? is.
1. 125
2. 148
3. 164
4. 111
132. The number of perfect cubes are
there in between 1 and 1000 is
1 29
2:.8
3..35
4. 30
133. The length of the minute hand of a
round wall clock is 3.5 cm. The area
swept by it in one hour is.
1. 64.85cm’
2. 38.5cm’
3. 12.25.cm’
4. 21.05 cm’
388/29
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130.

131.

132.

133.

s
i 2
<X

e
IR NN

g0 GOUIL prafd @  giumefl
Quitresflehr LswTomhE WLHOY epumi 42
srefled emumir 210-ebr wHlswu glumesfl -
Quustreeflsdr L.

1

N s ®

2.
3.
4.

a=3, b=-2uwpyibd c = -7 aafle
a?-2b2+3c? —sir .

1425

2. 148

3. 164

4. 111

1-5G1h 1000-5GLb GlemL G 2_sieT (PP
6T 6T6vuT S61Tl6tr TevIT Sl 1S .

1..29

2. 8

3. 3%

4. 30

S QUL Sulpeu SIS ST SEler FILblL
wpeiraflsir Fomd 3.5 Qs sraefled 9151 R
wewfl CEredd sppleimd G st umiy.

1 64.85Qsu°

2. 385088

3. 12.25 Qs

4. 2105 Qe
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134. The sum of three consecutive odd
natural numbers is 255. The
number is

1 855 85, uizllS
2,583,185, 87
SRS 2515
4. 91, 93, 95

135. Radius of a circle is 8cm. If the
radius is wrongly measured as
8.2cm, then the relative error in the
circumference of a circle is.

1. 81/1600
2. 324/6400
3. 1/40
4. 1/27

136. A cycle is sold for Rs.1000 after
allowing a discount of Rs.200. The
percentage of discount is

1. 2% %
2. 16 %%
3. 5%
4. 10%

137. The difference between compound
interest and simple interest for 2
years at 5% is Rs.7.50. The
principal amount is.

1. Rs.3000
2. Rs.2550
3. Rs.2000
4. Rs. 4000

138. A water tank is cylindrical in shape.
The diameter of its base is 28m and
its depth is 7m. The capacity of the
tank is.

1. 2232 Kkl
2. 3124kl
3. 2314kl
4. 4312kl
388/29 -~ 2a
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sy SIGS5055 G G
stauorseflstr e (BiG6b 255 6Teuflsv
J|euGlaueTITSH6TT.

1. 55, 85, 115

2. 83, 85, 87

5,215, 25, 13

4. 91, 93, 95

S0 aulLsHar md 8 Gl Bger
QATEme 82 OQelf aar s
saSELT Spperalld ghuBLD Emyl
lemiy.

1. 81/1600

2. 324/6400

3. 1/40

4. 1/27

es. 200 gerEmupuie q@m oy
5.1000-8@  elpslu@dng), seflsd
SemEnLp eI

1. 2% %

2. 16 %%

3. 5%

4. 10%

Girer_naT G EHE Seflaulip &S et G
il lp &L @enLCGw 2 srer aul'lp efFtd 5%
Cougur(® em.7.50 srevflsh gj&eb.

Rs.3000
Rs.2550
Rs.2000
Rs. 4000

B

gerenfis Qgm iy sery 2 (meneT
sulgsuLOTEIT Sl @)S6tT Djipuflstr afilL 1b 28.F
@ssr b 7.8 srefled Ggm ipuflstr
Camsmeray.

2232 &.6bl.

3124 &.60.

2314 &\.60l.

4312 &\.60.

=L B
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139. In a competitive examination one
gets 5 marks for every correct
answer and loses 2 marks for every
wrong answer. A person who
attended 25 questions gets 90
marks. The number of question
answered correctly and wrongly
are, respectively

1.25 and 4
2.15and 6
3.20and S
4.18 and 2

140. The data which is arranged in
classes is called as.

a grouped data.

an unprocessed data.

an un classified data.

a raw data.

gl b9 =

141. Rani makes a fixed deposit of
Rs.5000 in a bank for 73 days in
simple interest. If the rate of
interest is 4.5%, the amount she
will get on maturity of fixed deposit
is

1. Rs. 5000
2. Rs. 5045
3. Rs. 5073
4. Rs. 6000

142. In the adjoining figure ABC is a
trangle in which side BC has been
produced to X. If | BAC= x’,
|ABC = (42)°,(BCA =a" and
IJACX = (5a)" then the angles of the
triangle ABC are

4

da 2 Sa

s \f

= %
20°% 60°, 100°
30° 120°, 30°
45° 45° 90°
70°, 20°, 90°

Ll o o
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e® Cumlys Corafled geblamm sfliumsr
uHusGh 5 wHICueT RSl
u@lstrmeur. epsuGleum(m SeUDTEuT
oL@l 2 wHICumTST GmpEsL
u@Setrper. et 25 aEMESEHSE
oL wefll$g 90 wHliGusrser GuppmT
ooy geut  eflwrer  efemLwefl$S
ooméaeflor  aamenlGome LMD
goupre el weflls  aflemsseflsr
sTovoTsmflSemas (LpemmGLL
1 25wpyid 4
2. 15 wpgd 6
3. 20 wpyd 5
4. 18 wphmd 2
aglyssfles  Su@ssiue  yerafl
aflsunThiseT.
1. Qzr@ssiulL efaumssT
2. QatueliLrg eflsunbissr
3. Qaipemp uGSsIULTS
efleunTais6iT
4. aumslUOSSIULTS afleuhigsT.
@irrenfl gerseflpeiver e5.5000-g 4.5%
gmamehEe — geflaly  SyellsGn
uhdfld 73 prisEmse  ((PSIE
QS JIUMEES &mLsELh
Qursss Cgmams.
1. Rs. 5000.
2. Rs. 5045
3. Rs. 5073
4. Rs. 6000

Qar@&siulL uLgdlsd ABC g
W&Camemris, uss BC —sir B8 ‘X'—
shHédsi. [BAC = x°,|ABC = (4a)°,
|BCA = a° i [ACX = (5a)° srerfléh
AABC Gsemrhigsir.

4

i \K\s"
a i \
: g
c X

20°, 60°, 100°
30°, 120°, 30°
45°, 45° 90°
70°, 20°, 90°

E

Naw s
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The value of 143. (4444)* - iy
4444)° 1234321

1234321

1. 36 2. 64 1. 36 2. 64

3. 49 4. 16 3. 49 4. 16
The mode of the data 144. 84,91, 72, 68, 87, 84 sretrp Lsiraf)
84,91, 72, 68, 87, 84 is aflarssr s,

1. 91 2. R 1. 91 2, T2

3. 84 4. 68 3. 84 4. 68
A man goes 10m due south and then 145, @G 108 gmid Agpares s eir
24m due east. The distance from the 248 g Slysenss ClsswdApmt srafld,
starting point is. Cgm_&&550 BIGES St Glesnp Sm.

1. 34m e

2. 1

2. 14m 3. 261f

3. 26m 4. 2448,

4. 240m

SOCIAL SCIENCE / gewps oyflefwish

In the History of India which of the 146, Eéssmaper mipéarabaLd
following period was known as the @{53‘” supsompyfley ‘sedgmesfiut s’
sultanate period. T SmYPSSILGSDg.

1. AD 1206 to AD 1451 1. &9.1206 s £.19. 1451 auemy

2. AD 1451 to AD 1526 2. £.9.1451 a6 £.9. 1526 susmy

3. AD 1320 to AD 1526 3. &l9.1320 g6 9. 1451 auenry

4. AD 1206 to AD 1526 4. &.9.1208 Wz SN, 1526 susmy
Shajahan’s reign is described as the 147, oprganaflér s “Waomuisafis
‘Golden age of the Mughal’s Qumpeeoin” srGlsmeeflsb.
because. 2 Qjeut BlesEILkigsT, Seme LHLd
a. He extended his patronage in the 8 megﬁ%’mmi%@;.@ "9'.@5’

field of Literature art and music %‘%"?ﬂ_r&rﬁ Z:ﬁlﬂm Lf %";wmmfa

b. There was peace and prosperity Develiugy :

Iedvelgfwh'ere.f g @. @wnﬁ;?ssir SuALOMTETT &5 @(n{:gfsggj. :
¢. Lands were EI:tl e and the. Guoguth m e auifliLevsr $Hedl s
kingdoms received steady income Flemsowmreer aumLoTsTD HevLSH5I

from revenue. . egmegsmeaflsy ,%giygssfsuuilsb él;n.f;g goflu
d. The best painters and poets iy ot L Spis selleyiaensh
adorned Shajahan’s court. Bopger.
Which of the following is correct Shssmm_ahper ag) of ?
answer? L (S LDDID - S
1. a and b 2 b’ umpid )
2.b and ¢ 3. @ wmoo W
3. ¢ and d ~ S
4. a and d
388/29
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Gangai Konda a Cholapuram was  148.

built by
1. Rajarajal

2. Rajathiraja
3. Rajendral
4. Rajendra II

Which of the following incidents  149.

made Shivaji and Mughals bitter
enemies?

a. Shivaji established the Maratha
Kindgom and provided an
efficient administraion.

b. Shivaji attacked Surat and
carried away a booty.

c. Aurangazeb sent Rajajaisingh to
deal with Shivaji

d. Shivaji escaped from the prison
by hiding himself in a large
basket of sweets.

b, i€, d
¢ 'b
¢, d
e

FEE

e b=
®

About which of the following  150.

empire shall we have better
knowledge if we read the writings of
famous foreign travellers like
Nicoloconti, an Italian and Abdul
Razak and Paes.

1. Mauryan Empire

2. Vijayanagar Empire.
3. Gupta Empire.
4

. Kushana Empire.

38%/29
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1 (W@eomD TS

2. npmgrdlymegm

3. (pgomb GrrGhdirer
4. @yevorLmb @omGenrhSimstr

SpssamLsupmeT  aps  Hepayser
LrrSSHiL et eurgflemiuiiid
WasnMUTSmSTLL Usnsamiol uGSHLg ?

I Seurg) LTSS JTE VLD R
Hpsouowrer fifeunssms

EsoL (ol Sdler.

3l Houre] (TS FSDTSSTES |60
QesheurisensT emaLiLibpileormr.

©). Seursfemwils uswill meuss Glymem
Qi TeiTLICUET GREMTTRISE LI
SO emeuGS.

w. @efiliyseT Henpbs G GuemL&@SsT
S6tTenenT LempSEis Qe

Ssmpuiledlmig 09 CeusfiGuwissrm.
1 9 & 8 =
2. F B 9
I 09, @ W
4. 9, X
@SsTdlmug emps

“N&CanConCansimy” ‘ 9|liged Fes’
LHgid ‘Liwsh’ S Qeusfipm- G
uweefl@eflstr sursombmis -
GPlysafledmEg SpshsaTL subyeT
o0 GuTemsl) upl Bmb Sk
Qamerer (pEDS.

1. Queflfiwd Cuires
2. eflgupsmd Curys
3. ®usl Guirs

4. @egmerl) GuE.
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The two great chola Kings
contributed to the conmstruction of
structural Temples in South India.
Eminent among are Brihadeeswara
temple and temple of Gangaikonda
Cholapuram.
Which are the two Chola Kings
referred to in this passage?

1. Kulothunga I and Rajaraja II

2. Rajaraja I and Rajendra.

3. Adithya and Parantaka I

4. Parantaka I and Rajaraja L.

When did the British Ease India
compnay establish itself in India
firmly?
1. By the end of the 15" Century
2. By the end of the 14™ Century
3. Byt he end of the 17™ Century
4. By the end of the 16" Century.

How did the people of India
influence by western Education
during the 19" Century.
1. People learned more about
western Philosophers.
2. People were forced to learn
western Education.
3. People learned it to make
their position higher.
4. The ideas of liberty equality,
democracy, influenced the
people of India.

Adiyarkku Nallar wrote
commentary on
1. Silappathiharam
2. Tholkappiam
3. Nannool
4. Veerachozhiyam

~ 388/29
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1 ysomd GCarsgkiser whHyLd
@\yetieTL_mo @)nmepmeystr.
2. (psomd  @InTETmEstr
@mCsg S
3. g ézwetr
LTI & 55 68T
4. (pSSOMD LTS Sstr LHYID (PSevmd
@mmegrmegei.

LoiLd

Lofgd (pSeomd

§Tb BMbpTetmpsir GpiFlSEeT gy
Sys&iHu susmflss g BESumaied
grusmer flme HnSHs Camevorsor ?
1. 15-9uib ErppTstETRsT @NIHSES6T.
2. 14-gyib prppstTipst BMISSGSsT.
3. 17-gyib prpprevTiest @BmIFS @ 6T
4. 16-gylb FmDHOTeTETIR6HT @IS 6T

19-0 prppraimgedr GuissHu  sdad
Erdwisemer sreuafigid CubuBSHug) ?

1 Gupssdiu gyfesiaemeris uph
L&&6T YSHH0 PSS
Qs mevoTL6uTiT.
2. Gupssdu ssvaflemuts Lufls
W&&6T &L LMUILGSSLIUL L eort.
3. W&ssT HrhGE6T [Hensvsni
2 wWigHs Gamrer CupsHHiu
sevaflemwwis uuflstrmeorr.
4. CupssHu &mSgIsHsemer
- &ZhEImD, Fuggieud, w4
Gurstrpemeu & saflenL G uraflsr.
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[0,
1. dleluglsmmd
2. Qgmeramiuiiwid
3. [etremiTsd
4. arGsmflwibd
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The capital of Vijayanagar Empire
was

1. Vijaya Nagar

2. Talikkotta

3. Kanchi

4. Dharmapuri

Read the following passage and
answer questions 156-158.

In India three types of Civil
Services exist. All India Services
Central services and State services.
Finally there exist state services.
The members of of the State
services look after the
administration of subjects listed in
the state list. The constitution of
India provides for a union Public
Service Commission for the Union
and a Public Service commission for
each state.

Indian Administrative service is an
example of

1. All India Services.

2. Indian Medical Services

3. Central Services.

4. Judicial Services.

Indian Defence
example of
1. All India Services.
2. State Services.
3. Central Services.
4. State Public Service

service is an

The members of All India Services
and Central Services are recruited
through the.
1. State Public Service
Commission.
2. Indian Administrative
Commission.
3. Joint Public Service
Commission.
4. Union Public Service
Commission.

3%8/29
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@S UTGISmiY usuefl& @
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1 gmersgl @ESHuliuemflss.

2. umfle gyratueniiser.
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4. umfle uleflé giais

JmarSg @S |re uefiumeaTTs EmLd
wiﬁm S|r&ll LsmflLmeTTie(EmhLD 67860
eyeold [PuflssiuGSpissr.
1 wmfle vlefls srelsv sblagsr
2. @ipHw fireursl usweflser
2, 6TTITILILD.
3. @i ulsfls stalsv silagstr
4. weflwsr Lefls stafsv suilagssr
(g Qumrgit ussflwmeri Caiay
2, 6METUTILILD)
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159. Which of the following exactly
means secularism in India?

1. Religion is to be kepi away
from Government and its
policies.

2. Everyone has the right to
worship anywhere in anyway.

3. Treating all the religions
alike and not supporting any
particular regligion.

4. People have the right o
choose, practice znd preach
their religions.

160. Which of the following method is
using for the selection of ML A’s
1. Election through the people.
2. Election through the Local

bodies.

3. Nomination through the
executive.

4. Election through the political
parties.

161. The responsibility of National
defence lies with the
1. State Government
2. Governor.
3, Prime Minister,
4. Central Government

162. Which of the following is the basis
for our foreign policy?
1. Anti-imperialism
2. Relations among Nations.
3. Anti-racialism.
4. Peaceful co-existence.

163. The place where panchayat Raj was
first introduced, is
1. Punjab
2. Madhya Pradesh
3. Bihar
4. Rajasthan.
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3. dapmi.
4. @inmesiogimedr.



164. Read the following statements.
A. A Citizen is a member of a
country and enjoys certain
special rights like that of voting
and standing for elections.
B. The citizens have some
obligations to the country like
paying taxes. being ready to
defend the country in times of
war.

1. Both A and B are false.

2. Both A and B are true.

3. Ais true and B is false.

4. Ais false and B is true.

165. Read the following Statements.

A. The Supreme court is necessary
because they protect the
Fundamental duties of the

citizens.

B. It decides Centre-State disputes
or disputes arising between tweo
or more states.

C. It acts as the custodian of the

constitution.

The true statements are
1. A,B,C
2. A only
3. Bonly
4. C only

166. The headquarters of UNO,
1. Paris
2. Rome.
3. Geneva
4. Newyork.

167. National Human
Commissiot was
India in the Year

1. 1945
2. 1978
3. 1973
4. 1993

Rights
constituted in
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168. The constitution of our country was  168.

framed by the
1. Draft committee.
2. Constituent Assembly
3. Dr.Rajendra prasad.
4. Indian Government.

169. Following are some of the  169.

properties of gases.
1. Helps in burning.
2. Does not have colour or tase.
3. Easily mixes with other
compounds.

4. Helps in body metabolism
Which of the following gas has all
these properties?

1. Carbon di oxide.

2. Nitrogen.

3. Oxygen

4. Argon.

170. Tropical region is that. 170.

1. Land area lying between the
Tropic of cancer and the
Tropic of capricorn.

2. Land between the equator
and Arctic circle.

3. Land between the Tropic of
capricorn and the Antarctic
Circle.

4. Land between the Northpole
and South pole.

171. The Sundarbans forest of India is 171,

Icoated in
1. Kashmir Valley.
2. Darjeeling.
3. Gangetic Delta
4. Damodar Valley.

172. The percentage of Land occupied 172,

on Earth’s surface is
1. 28
2. 27
3. 29
4. 30
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173. Stated below are some statements.

1. The planet earth is fifth
largest in size.

2. The Lithosphere is the inner
most layer of the earth.

3. Jupitar is the nearest planet
to the Sun.

4. Earth’s crust is not of
uniform thickness.

Which statements are true?

1. 1and2

2. 2and 3

3. 3and 2

4. 1and 4

174. The layer of air enveloping the
Earth’s surface is called
1. Atmosphere
2. Hydrosphere
3. Biosphere
4. Lithosphere

175. The surface tempature of the Sun is

1. 4800°
2. 5400°
3. 6000°
4. 6100°

176. Given below are some statements.
a. Coniferous forest do not shed
their leaves all at once.
b. They are needle shaped leaves.
¢. These trees require high
precipitation.
d. They are found at an altitude of
1000 to 16060 metre.
Which statements are true?
1. aandb
2. bandc
3. aand d
4, band d
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177. Read the following statements.

A. A drumlin is a square shaped hill
which is found in the desert.

B. ABRASION is the processes by
which the ice and its load of rock
fragments slide over bed rock,
smooth and polish the surface
belew. Then

1. Both A and B are wrong

2. Statment B is wrong. A is
Correct.

3. Both A and B are correct.

4. A is wrong and B is correct.

178. Atmospheric pressure is measured
by an instrument called
1. Thermometer
2. Barometer

3. Anemometer
4. Wind vane

179. Topography means
1. Nature of Land
2. Nature of water bodies.
3. Nature of Settlements
4. Nature of Vegetation.

180. Which of the f{ollowing regions
experience ‘6’ months of sunlight
and ‘6’ month of darkness.

1. Polar

2. Equatorial

3. Tropic of cancer.
4. Tropic of capricorn.
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